1Yo WE FH (ZRIAYR B8 ?

1.1 x=10%%3, ( x= ) 1.2 x=10%/%3, ( x= ) 1.3 x=seq(10,1,-2), ( x= )
1.4 x=c(1,2,3,4), y=c(5,6,7,8), z=c(9,10), wl=x+z, ( wl= )

1.5 z=c(100,200,300), z3=z<400, ( z3= ) 1.6 x=c(10,11,12,13,14), x[-c(4,5)], ( x= )
1.7 x=TRUE, y=FALSE, x&y, ( ) 1.8 y=c(10,11,12,13,14), y[c(3,4)]=18, ( y= )
2. IO XtE ZEOIM ( )2 Mt

x=c(95,88,93,73), name= c("7'°01|”,”t—'f5'.7‘._|”,"0|%‘“il","?:l)ﬁ'EH"), ( )(x, labels=( ), main="7H QI Oj=H")

3. H XtE AGOM ( = xHTJEP

y=c(95,88,93,73), |abe|:c("7'°o4| ST Ol A LA E), ( )y, ( )=label, ()=rainbow(length(y)))
AOIEE 0|8 A|ZHO| 35AIZH0ILE %2, 2 Qt0|Hfo|Z0| =2 == &M 1082
A
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C}. (alter="greater"”) (25%)

6.0, 35, 40, 50, 6.0, 5.0, 6.5, 30, 15, 25, 7.0

41 ZA A7 YHEEE MEEX 24 5H0j2t (p-value = ( ) BrE

42 W AOIEE 0|8 A|ZHO] B7t SIR}A=71 ? (p-value = (
A

£ (@ WEL, @ WEX| %=L}
o ) o
43 M2|3FE 97%0 A9 st=0lo] 1Y T AOEE 0|8 AIZt2 ?

th @ S7I5tL, @ d23tRALh

5. & ZZ(control, nocontro)0|A| EtEEl 232|EQ| A E FHSIGCH FHEE 232 E Z& CH3ap 2ot

control 30Mpa 28Mpa 31Mpa 29Mpa 30Mpa
noncontrol 26Mpa 27Mpa 28Mpa 26Mpa 28Mpa
51 =Rl 240] 227} 2 (p-value = ( ), & "E 20l (@ 2t @ HEL
52 & ZEHO| XtO|7F UA=71 7 (p-value = ( ), & TE XOI7F (@ UL @ SiEh
6. 4719 58 2o N2e FYoUCt. FHE H22 oh3at 2ot
A F A B C D E F G H [
=8 ¥ 38.5°C 38.7°C 38.2°C 38.8°C 39.1°C 38.3°C 37.5°C 38.5°C 37.8°C
=8 = 36.7°C 36.5°C 38.0°C 38.5°C 37.7°C 38.2°C 37.0°C 39.1°C 38.3°C
6.1 &7/ 28 =2 M2 Halt E 228 MED Y=t ? (p-value = ( ), At 228 (@ WEL, @ WEX| @#=Ch
62 &7 S80 M2 X2 A7t U7} ? (alternative="less") (p-value = ( ) A2 d27F (@ UCH @ SICh
7. &4 A5 7|70 s A=z 60Ol AMYSEL 25000 R4S YRACE FERHNM= AL 51%7F SF 2Tz Yottt
TG0, =4 AZ 7|2t Yojh MAH 45004 F 30042 M ZAteh A2t 100U0] SFR2TLE YO ALURALE 2 AL
ZIE HIYHOE ROI+F 5%0|A dEHO FHZ AWt (alter="greater”) (108)
7.1 p-value = ( )
72 AEN =E0| Q=T 7 aiC} @ 2HX| YCh

(
8. A~DQ| 57tX| ROl ofm}

—o =
oo A B C D E
o2 32 23 27 23 35
8.1 p-value = ( )
82 OILIE 20 ZEO| Xt0|7l (@ ULCHL @ 8iCh
9. 0| E ALNEE 7|5 Mz CHEat 2L (108)
CE g Of = AX| AF20] 7|0t
el 1,000 1,050 850 200 50
of 1,500 1,100 650 130 60
9.1 p-value = ( )
2 JEo| e Fof "Hefle (@ sEHOICE @ SEHOIX| L)
10. 8¢ XYM X7 20 2 msjHo| ChZat 2t (25%)
T2 1.0 12 13 18 2.0 2.2 3.1 36
s H (A ) 100 105 115 163 190 250 325 405
10.1 spearman &&A £ ? ( ), kendall &ZATE ? ( )
10.2 KTzt msfde AmaA 7L JAEZL? p-value = ( ), AT EAZH@ RUACEL @ BICh, 95% AZ|lE0| A A ( ~ )




